ZO+AZOZQ)+A, ZOZQ)+A,ZO)+A,Z0)* +AZM)° +AZ(0)" +A, Z(1)° + AV ()° =0,
A =-0.1.44101238
A, =0.5625
_0.0007
a4
~0.00070
a4

~0.000703
T

(2 -768088-10° a” +1.384400440-10° o* +1.38440044-10° )

(—3.98’:’)83711-105o:2 -1.9949381-10°a* —1.99491851»105)

A 1.55744951-10°a® +7.7872524-10°* + 4.153209-10° ¢ v + 3.114999-10° £ 2 + 7.78724474-10° —1.0383003301-10° ¢ v? + 3.11490099-10° £ )

~0.000703

a4

A :M(z.:@sensmz 10°a?¢ %y +1.946818-10°¢ % - 7.7872474.10° £ *v® — 7.7872474-10° L %2 +1.946813118~105a“§2)
a

(~59848156-10°0°¢ 2y — 4.787645-10°¢ 7 +1.795467-10°ar*¢ 2v? +1.79536710°C 2v? — 4.7851645-10°a°¢ )

A, =-1.6211389384

A=0.11
¢=2

a=1



